EB-2022-0110 : 1 : Michael Buonaguro

SUBMISSION DEADLINE DATE **CLAIM STATUS COST CLAIM NUMBER**

November 21, 2022 Approved by Finance 787

EB# OTHER EB#S PHASE #*

EB-2022-0110: Rates: Distribution: Enbridge Gas

INTERVENOR

Buonaguro, Michael; +1 (416) 767-1666

mrb@mrb-law.com

INTERVENOR COMPANY*

INTERVENOR TYPE Ontario Greenhouse Vegetable Full Registrant

Letter

Growers, Leamington: Corporation

HST RATE ONTARIO **EXCHANGE RATE** COUNTRY

13.00

LATE SUBMISSION ALLOWED EXTENSION DEADLINE DATE HST NUMBER

82029 2415 RT0001

PARTICIPANTS

Participant Total (\$) Claim Status Non-Filing Participant First, Last Name **Filing Participant**

No 7.122.39 Submitted Buonaguro, Michael; +1 (416) 767-1666

mrb@mrb-law.com

ATTACHMENTS

Claim **Attachment Document Import** Date Type Type **Attachment Participant** Message OGVG COST 20221109 EB-2022-0110.pdf Cover

OGVG EB-2022-0110 Cost Claim 110920221236.pdf

TOTAL HST TOTAL DISBURSEMENTS TOTAL LEGAL/CONSULTANT/OTHER FEES 819.39

6,303.00 0.00

TOTAL CLAIM TOTAL AMOUNT AWARDED

7,122.39

REASON FOR **REASON FOR REASON FOR DISALLOWANCE** DISALLOWANCE - 2 **DISALLOWANCE - 3**

MAKE CHEQUE PAYABLE TO

Michael R. Buonaguro Barrister and Solicitor

SEND PAYMENT TO ADDRESS **ATTENTION**

24 Humber Trail Toronto, Ontario M6S 4C1

SUBMIT SECTION

I am a representative of the Party. I have examined all of the documentation in support of this cost claim. The costs incurred and time spent are directly related to the Party's participation in the OEB Process referred to above.

This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in section 6.05 and 6.09 of the OEB's Practice Direction on Cost Awards.

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY DATE SUBMITTED Michael R. Buonaguro November 09, 2022

Michael Buonaguro

CASE COST CLAIM

EB-2022-0110 : 1 : Michael

Buonaguro

INTERVENOR NAME

Buonaguro, Michael; +1 (416) 767-1666 mrb@mrb-law.com

PARTICIPANT CLAIM STATUS

Submitted

FILING PARTICIPANT

EB-2022-0110: Rates:

Distribution: Enbridge Gas Inc.

Buonaguro, Michael; +1 (416) 767-1666

mrb@mrb-law.com

NEW PARTICIPANT

No

NON-FILING
PARTICIPANT F. NAME

NON-FILING

PARTICIPANT L. NAME

HOURLY RATE

HST RATE

330

SERVICE PROVIDER TYPE

Legal Counsel 20

YEAR CALLED TO BAR COMPLETED YEARS
2002 PRACTICING/YEARS OF

RELEVANT EXPERIENCE

20

CV STATUS (FOR

CONSULTANT/ANALYST)

CV Required

LAST CV DATE

CHARGED

13.00

HEARINGS

Yes

CONSULTATIONS

No

DISBURSEMENTS

No

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Review Application and Evidence						
Review Application and Evidence	2.00	330	660.00	13.00	85.80	745.80
Discovery						
Preparation of Interrogatories	1.50	330	495.00	13.00	64.35	559.35
Review Interrogatory Responses		330		13.00		
Technical Conference Preparation		330		13.00		
Technical Conference Attendance		330		13.00		
Technical Conference Follow Up		330		13.00		
Issues List						
Preparation		330		13.00		
Attendance at Issues Conference		330		13.00		
Intervenor Evidence						
Preparation		330		13.00		
Interrogatory Responses		330		13.00		
Preparation of Witness(es) for Attendance		330		13.00		
at Hearing						
Settlement Conference / ADR						
Preparation	2.00	330	660.00	13.00	85.80	745.80
Attendance	13.20	330	4,356.00	13.00	566.28	4,922.28
Preparation of Settlement Proposal	0.40	330	132.00	13.00	17.16	149.16
Attendance at Presentation to Panel		330		13.00		
Oral Hearing						
Preparation		330		13.00		
Attendance at Oral Hearing		330		13.00		
Submissions						
Written Submissions		330		13.00		
Oral Submissions		330		13.00		
Attendance at Oral Submissions		330		13.00		
Other Attendance						
Other Attendance		330		13.00		
Communication						
With Client		330		13.00		
With Other Parties		330		13.00		
Motions						
Preparation of Motion(s) Materials		330		13.00		
Prepare Submissions on the Motion(s)		330		13.00		
Attendance at Hearing on Motion(s)		330		13.00		
Confidentiality						

Preparation of Application for	330	13.00		
Confidentiality				
Prepare Submissions on Confidentiality	330	13.00		
Attendance at Hearing on Confidentiality	330	13.00		
Decision				
Review	330	13.00		
Rate Order				
Review	330	13.00		
Prepare Submission on Rate Order	330	13.00		
Total Service Provider Fees				
Total Service Provider Fees:	6,303.00		819.39	7,122.39

Attachments

Attachment Document Type Import Message

922.pdf Time Docket

Hearings, Consultations, Disbursements Attachments

Attachment Related Disbursement Claim Type Claim Type 922.pdf

Document Import Message Time Docke Hearings

Michael R. Buonaguro Barrister and Solicitor 24 Humber Trail

24 Humber Trail Toronto, Ontario M6S 4C1

Ph:(416) 767-1666

Fax:(416) 767-1666

Ontario Greenhouse Vegetable Growers

November 7, 2022

File #: 05-489 **Attention:** Inv #: 922

RE: EB-2022-0110 EGI 2021 ESM and DV Account Application

DATE	DESCRIPTION	HOURS	AMOUNT	LAWYER
Jul-06-22	Review application, draft intervention.	1.00	330.00	MRB
Jul-21-22	Review application.	1.00	330.00	MRB
Aug-04-22	Review application, draft IRs.	1.50	495.00	MRB
Sep-13-22	Preparation for settlement conference.	2.00	660.00	MRB
Sep-14-22	Attendance at settlement conference.	7.70	2,541.00	MRB
Sep-15-22	Attendance at settlement conference.	5.50	1,815.00	MRB
Sep-28-22	Review draft settlement.	0.40	132.00	MRB
	Totals Total GST on Fees	19.10	\$6,303.00 819.39	
	Total Fee & Disbursements			\$7,122.39
	Balance Now Due			\$7,122.39

TAX ID Number 830059879 Total GST \$819.39